I Q.1 Two circles, each of radius 5 units, touch each otherat (1, 2).
If the equation of their common tangent is 4x + 3y = 10, find
the equation of the circles. [1991 - 4 Marks]



Sol 1. ket t be the common tangent given by
4x+3y=10 esafl)
Common point of contact being P(1, 2)
Let A and B be the centres of the required circles. Clearly,
AR is the line perpendicular to r and passing through
P(1,2).

[

¥
. Equation of line AB 15
 Asslopeof tis=—4/3
——=——=r|..slopeof ABis=3/4=1an0
| cosB=4/5:5sinB8=3/5
For point 4, r=—15 and for point B, r= 35, we get
x=1_y-2_ .. [Radixmuh:ach uimlﬂ}
4/5 315 being5,AP=PB =5

=> ForpointA4, x=-4+1,y=-3+2
and For point B, x=4+1,y=3+2
. A=3,—-1), B(3,5)
Equation of required circles are
(x+37+(p+1)=5
and (x-5P+(y-5P=5
— xz+yz+ﬁ_t+1_y—15=ﬂ

and x° +_vJ —10x-10y+25=0




